Absolute Value Functions (Graphs)
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rtI: Identify the vertex. Determine if the graph opens up or down (circle). Determine if the graph has a maximum or minimum (circle)
- Decide if the graph is narrower, wider, or the same width as the parent graph (circle). -
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sart II: Neatly graph each absolute value function on the graph provided. Start with plotting the vertex, then use the slope. You

hould have at LEAST three points on your graph...feel free to plot 5 to make your graph more accurate! ,\
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rt III: Write the absolute value function for each graph. Then provide the range and the intervals of increase and
rease of each function.
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